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—JIsetd X2 (sg) 282 L 22l 1,500
202 04| 2,400 2,400 0
01 2Ll 2,400 2,400 0
OFHS Al O L 2o =
20,000 »2H 60! 2,400
206 M = Hl 250,000 245,000 5,000
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OJtEge o SN2 AMDE &4 2By
300,0002 53] 1,500
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30,000,000 *1JH 2 40% 12,000
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OXH&Eg JIE=2=H™el & XA
30,000,000& = 10CH x40% 120,000
st 284 A 323,655 223,816 99,839
J| 190,084
< 31,681
[ia 101,890
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A ols EXEH KNHE 14,400 20,000 A5,600
< 4,320
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s 10,080
02 (It HAMHEE 14,400 20,000 A5,600
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< 4,320
s 10,080
s BA(FYE)Hd X 28,000 26,600 1,400
< 8,000
s 20,000
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< 8,000
[ia 20,000
02 IZtEHAHE L 28,000 26,600 1,400
O4Ys BF(2Y) Ko N
200,000& *2002] x70% 28,000
< 8,000
[ia 20,000
SAsIE &2 2 ey 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 It S AIHE L 20,000 20,000 0
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01 2= 85,161 84,890 271
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— 6= 12,1243 x5H »10A| 2% 128 7,275
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